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Pythagorean Theorem Study Guide
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3 Nancy’s rectangular garden is represented in the
dizgram below.
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2 Tauya rons diagonally across a rectangular fleld
that has a length of 40 vards and a width of 30
yards, as shown in the diagram below.
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- Ifa dl-agonal walkway crosses her garden, what is

1‘[3 Iength in feet?
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4 What is the value of x, in inches, in the right
~ triangle below?




'5 The end of a dog's leash is a‘rtachéd to the top of a 9 The rectangle shown below has a diagonal of 18.4
5-foot-tall fence post, as shown in the diagram cm and a width of 7 cm.
below. The dogis 7 feet away from the base of the .
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10 Campsite 4 and campsite B are located directly
opposite each other on the shores of Lake Omega,
as shown in the diagram below. The two campsites
form a right triangle with Sam’s position, S. The

1.’ distance from campsite Bto Sam’s position is

A + be 1,300 yards, and campsite 4 is 1,700 yards from his

0" oF= cf [Fowe|d. position.

6 The legs of an isosceles right triangle each measure
10 nches. What is the length of the hypotenuse of
this triangle, 10 the nearest tenth of an mch'?
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7 The length of one 51de of a square is 13 feet. What
is the length, to the nearest foot, of a diagonal of
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